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The Ameri

ican economy is said to go through an eight-to-ten-year business cycle.

This cycle has four phases: expansion, peak, contraction, and trough. During expansion,
business activity increases until it reaches a high point, or peak. During contraction,
business activity decreases until it reaches a low point, or trough. Although minor
upswings and downswings happen all the time, the overall pattern of the business cycle
is to rise, then fall, and then rise again.

Movement in the economy is classified by many different terms that explain the
effects that wages, production, and money supply have on one another—and on the
business cycle—at any, given time. The chart identifies some of these terms and briefly
defines the economic trends they describe.

ECONOMICS TERMS AND DEFINITIONS

Term Description
inflation a general increase in prices resulting from a decline in the value of money; occurs when there is
: more money in the economy than there are goods to buy
| demand-pull| an increase in prices that occurs when there is a greater demand for goods than there is a
inflation . supply; results from too much money and relatively too few goods
cost-push an increase in prices caused by an increase in the cost of production; often results from a general
inflation | rise in wages; cost-push inflation related to wages is sometimes called the wage-price spiral
recession a period of general economic decline; characterized by production declines, rising
unemployment, and people having less money to spend
depression | a severe reduction or slowing of business activity and in the flow of money in the economy;
many people are unemployed and have little money to spend
9. Which word best describes the American 11. Inthe year 2000, it cost $2 to purchase an
economy? ) item that cost $1 in 1990. Which economic
condition does this illustrate?
(1) ‘positive
(2) negative (1) inflation
(3) changing . (2) recession
(4) unchanging (3) depression
(5) large ) (4) expansion
(5) contraction
10. Which economics term relates to both a
recession and a depression? 12. Which is an unstated assumption the

passage makes about the American

inflation : economy?
peak

(1

expansion (2)
upswing ’ . (3) Contraction is preferable to expansion.

4

(1)
(2)
(3) trough
4)
(5)

It is currently on the rise.
Inflation has no effect on it.

Minor variations in the pattern can lead
i @ ’ to recession or depression.
(5) 1t is not seriously affected by minor

To apply an idea to a new situation, analyze variations in the pattern.
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